g
=

XFK - BN T BERER

X gkNo.

Ze X Hh—18

S

Z2 i

T A

e B S — [1265-1

iy

¥4, 800, 000

B EREO

ALiER (B

N7

A
A,

A
A4

) 269. 74 nf £ Hi 60% 200%
ad
)
HE BEE R JH &I A
g
e — M 9 B#% o5 R e A S B A bk —

% TR 1.2 km HER 0.9 km
i | AT - HBERT| 0.8 km TN 1.1 k|
e = O - it — BB U, & 4TS ER b U < FIEME
= JrlE 0.8 km R 3.9 km % DEWGET T,
~ H OKENHHEL THRY . AKEHMER L 72> TWET,
o | WHEE - 5E 4.5 km R —R— 1.3 km
i
| A - BEAERT| 0.8 km |B—2tr2—| 2.1 km

ZftH 4 Fn 2 ¢ 9 A 16 H Hihperd H 4 Fn 2 4 9 H 16 H
gk () H aFn 5 44 10 H 11 # HZHHA aFn 7 4 10 A 10 H




